Chemistry 11.   Stoichiometry 

1. How many moles of hydrochloric Acid will be required to produce 0.35 moles of hydrogen gas by the reaction with zinc?

2.  How many moles of fluorine will be needed to produce 4.5 g of hydrogen chloride by reaction with hydrogen?

3.  26.1 g of potassium is reacted with oxygen to produce potassium oxide, K2O.  

a) Calculate the mass of the product produced.

b) if the reaction took place at STP condition, calculate the volume of oxygen that reacted with potassium.

4. When 23.8 g of silver nitrate are reacted with enough sodium chloride.  A double replacement reaction took place.  Calculate the mass of silver chloride produced.

5.  Given:   4 NH3(g ) + 5 O2(g)  ---->  6 H2O(g)  + 4  NO(g)  +  905 kJ   ( at STP)

a) What mass of water is produced when 2.3 g of NH3 is burned?

b) What is the volume of NO produced when 2.3 L of Oxygen reacts?

c) How much energy is produced when 23.0 g of ammonia (NH3) reacts?

6.  What is the mass of NaCl required to make a 1.0L of a 0.35 M solution?  (Review from Mole).

7.  Sulfuric acid can be neutralized by reacting it with sodium carbonate.   What volume of a 2.0 M solution of sodium carbonate is needed to neutralize 30.0 mL of a 4.5 M solution of sulfuric acid?  ( this problem deals with concentrations).

